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__ inTaipei is becoming much more convenient with the newly built Mass Rapid Transit.

(A) Passenger (B) Traffic (© Transportation (D) Vehicle
Native Americans have a cultural that extends back over 1,000 years.

(A) average (B) heritage (© exchange (D) visage
Do not expect John to apply for a visa. Too much paperwork can overload him.

(A) John might not be able to get a visa because he does not like to fill out many forms.
(B) John fails to get the visa because he forgets to bring the papers with him.

(© John does not expect to have a good job because it is quite demanding.

(D) John is overwhelmed with the questions asked by the customs officer.

Microsoft’s Windows are the computer software _ that | am most familiar with.

(A) bandages (B) barrages (©) packages (D) personages

If a professor uses others’ essays without documentation, he will be accused of _ and expelled out of the
academic community.

(A burglary (B counterfeit (© ghostwriting (D) plagiarism

In his childhood, his family lived in an inner city where parents were __ by bad housing and shortage of
money.

() anticipated (B) backfired (© committed (D) depressed

By learning to express _ , to show thankfulness to people, people can become more satisfied with their daily
lives.

(&) hostility (B) gratitude © intimacy (D) fantasy

Jenny is very kind to her next-door neighbor, _ her neighbor is not easy to get along with.

(A) besides (B) except © even (D) even though

I’ll go to the library later today, if | __ the time.

(A) have (B) had (©) am having (D) will have

Fat people must be careful because obesity is on its way to __ smoking as the number one killer in many
countries.

(A) progressing (B) regressing (©) transacting (D) surpassing

its cost, the office ladies still dream of owning a designer bag.
(&) Except (B) Despite © Even if (D) Owing to



42  For many people, there seemed to be no escape from poverty.
(A4 It seemed that many people could not change their impoverished condition.
(B Many people found little difficulty in getting rid of poverty.
(© Many people were poor, and they found no way to get away from the rich.
(D) It seemed that many people found no way to help those poor people.

Someone in Hollywood should snap up the movie rights to the backstory of Falcarius utahensis, the 125
million-year-old dinosaur with 10-cm claws and spoon-shaped molars _ 43 last week. Scientists say it offers the first
glimpse into how dinos made the __ 44  from small, agile meat eaters to elephant-size vegetarians. Falcarius, as it turns
out, was dug up by a black-market fossil collector named Lawrence Walker, who found it on US government land in Utah
while digging at night under a tarpaulin. Convinced he was onto something big, the poacher tipped _ 45 a
paleontologist he knew, James Kirkland, and led him to the site. Kirkland tried to protect his source but, asked under oath
how the dinosaur was discovered, reluctantly _ 46 Walker in. Kirkland got his 15 minutes of fame last week. Walker
served five months in prison.

43 (A concealed (B) unveiled (© restored (D) explored
44 (A) movement B flowing (©) transition D) gap

45 () off (B) over © up D into

46 (A handed (B told © took (D) turned

As little as thirty years ago, few people questioned the gender roles that had prevailed for centuries. The
conventional wisdom was that a woman’s place was in the home and that a man’s main responsibility to his family was to
put food on the table. In the 1970s and 1980s, however, greater numbers of working women meant that men were no
longer the sole breadwinners. A father’s emotional involvement with his family also became more important. Forty years
ago, almost no husbands were present in the delivery room when their wives gave birth. Today, it is generally expected
for male partners to attend childbirth classes, to be there for the delivery, and to take more responsibility for child rearing
than their fathers or grandfathers did.

In addition to society’s changing views of the role men play in relation to childcare, social scientists also found that
the presence of the father in the home can contribute to lower juvenile crime rates, a decrease in child poverty, and lower
rates of teenage pregnancy. Differences in parenting styles between men and women are also believed to contribute to
children’s ability to understand and communicate emotions in different ways. The research supports the claim that the
absence of a father in the family is the single biggest problem in modern society.

47  Forty years ago, a father usually ___ .

(&) won bread for his family (B) attended childbirth classes
(© educated his children (D) stayed at home
48  The father’s presence at home does NOT contributeto
(A lower juvenile crime rates (B) more serious family violence
(C) a decrease in child poverty (D) children’s better development
49  Children under the care of both parents develop good ability to communicate emotions because
(A) there are more conflicts in the family (B) there are two breadwinners in the family
(©) there are two parenting styles in the family (D) there are fathers and grandfathers in the family

50 The author would agree that
(A) the increased number of working women brings about serious problems in childcare
(B) contemporary men take more responsibility for childcare than their fathers
(© a father’s emotional involvement with his family is not as important as a mother’s
(D) a mother’s emotional involvement with her family is not as important as a father’s
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